N of reco track vs dxy(PV)

109

=

°‘9—525— 0-15-10 — 5 10 15 20 25

'—'—“—'—"WE

| N of associated (recoToSim) tracks vs dxy(PV)

0.95

5—20—15—1 50 5 0 25

WM. UU

I
|
|
|
I
|
)

0995-20-15-10 -5 0 5 10 15 20 25

N of associated (recoToSim) looper tracks vs dxy(PV)

5=26-15-10 -5 0 5 10 15 20 25

—— DQM_TT__mkFit-DQM_original

[Nofresomackvsd —— DQM_TT__mkFit-DQM_modified

L u:> I‘mil
I
|

\u \} |

—— e

=30 -20

N of reco track vs dz(PV)

..................................

T

H| Ui wm

-1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.

'”w e
IM it

N of associated (recoToSim) tracks vs dz(PV) |

||‘W \ M Mh

. ﬂdﬂ
8 L]

-1-0.8-0.6-0.4-0.2 0 020 6 8 1

..................................

S1-08060402 0 03040608

N of associated (recoToSim) looper tracks vs dz(PV)

10

s

N of associated (recoToSim) looper tracks vs dz(PV)

10?

10

o




	Contents
	Page 1


